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a) Wrie down the In fix notation of the following expression:

9-3+2%(3%4-3) /4+2*1
b) Whatis the output of the following code

#include <iostream>
using namespace std;
int funi(int n)

{

if (n == 1)
return @;

else

return 1 + funl(n / 2); // recurrsive call

}
int main()
{

cout <¢ "answer is = " << funl(32) << endl;
return @;

¢} For the following given data below draw the Max-Heap
Data is:
15 3,6,18,5,9,11,20,17,7,2,3.14

d) Write down the code for the tnsertion Sort.
void InsertionSort (int A[ ], int size); // you have to define this function only

Question # 3, Long Questions

(30 marks)
a) Write down the code of the following function of Link List Class.

i) vold removeFromHead| ) // remove the first node at head
i) int countDuplicate ( int key) // count the node having duplicate values.

b) Suppose you are given a sorted array A of n distinct numbers that has been rotated k
steps, for some unknown integer k between 1 to n-1. That is, Af1..k] is sorted in increasing
order, and Afk+1...n] is also sorted in increasing order, and A/n] < A[1].

The following amray A is an example of =716 elements with k=10.
A=({9,13,16,18,19,23,28,31,37,42,0,1,2,5,7,8} -
You have to design an Of fog n ) code to find the value of k.

int FindK({int A[ ], int size) //you have to Implement this function P.T.O.

-
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Question#1. Multiple Choice Questions: {2 x 5 =10 marks)

1. Two main measures for the efficiency of an algorithm are
a) Processor and memory
b} Complexity and capacity
c) Time and space
d} Dataand space

2. The memory address of the first element of an array is called
a} floor address
b) foundation address
c) first address
d) base address

3. Abinary tree whose every node has either zero or twa children is called
a) Complete binary tree
b) Binary search tree
c) Extended binary tree
d) None of above
4. In which notation operator is comes after operand?
a) Infix
b) Prefix
¢) Postfix
d) None

S. Linear order linked list is provided through
a) variables
b) arrays
¢} Pointer
d) Strings
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Question#1. Multiple Choice Questions. (1x10=10)
i. Stack is used for:
a. CPU Resource Allocation b. Breadth First Traversal
c. Recursion d. None of the above

ii. How many swaps are required to sort the given array using bubble sort - {2, 5, 1,

3,4}
a. 4 b. 5
c 6 d. 7
il A binary tree whose every node has either zero or two children is called:
a. Complete binary tree b. Binary search tree
c. Extended binary tree d. Nene of the above
v. What is the worst case time complexity of linear search algorithm?
a. o(1) b. O(nz
c. O(log n) d.  O(n%)
V. In the deletion operation of max heap, the root is replaced by:

a. Next available value in the left sub-tree
b. Next available value in the right sub-tree
C; Any random value from the heap

d. Last element of the last level

vi. Which of the below is not divide and conquer approach?

a. Selection sort b. Bubble Set
c. Counting sort d. Merge Sort

vii.  Inwhich notation operator is comes after operand?
a. Infix b. Prefix
c. Paostfix d. None

viii. ~ Two main measures for the efficiency of an algorithm are:
a. Processor and memory b. Complexity and capacity
C: Time and space d. Data and space

iX. The memory address of the first element of an array is called:

= a. Floor address b. Foundation address

c. First address d. Base address

X. Linear order linked list is provided through:
a. Variables b. Arrays

c. Pointer d. Strings
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Question # 2. Short Questions: _1§x_5_=@_n1§_r5_s_1

a) Write down the code for the Insertion Sort.
void InsertionSort { int A[ ], int size); // you have to define this function only
b) Write down the code of the foliowing function of Link List Class
void remove(int key) // remove the node having value equal to key.

¢) The following given function runs in time O(n), you have to write an equivalent function
: that runs in time O(1).

int fun( int size, intal])

{
s=0;
for{i=1ton)
s=s+a[i}-afi-1]
return s;
}

d) How many times "Helio” will be displayed on screen by running this code, also draw
recursion tree for calculating your answer.

#include <iostream>
using namespace std;
void f(int n)

if (n==1]] n==8)

return;
else
{
cout << "Hello" << encl;
f(n - 1); // recurrsive call
f{n - 2}; // recurrsive call
cout << "Hello" << endl;
}
int main()
f(5);
return ©;
}
uestion # 3. Lon ion . . {3x 10=30 marks

a) Write a program to check whether a given string is of the form a"b" wheren=0,1,2, 3.
using appropriate data struture.
Examples:
aaabbb - is of the form a™b”
bbbaaa - is not a form of a"b"
ababab —is not a form of a"b"

b) For the following given data below draw the following:
i BST(Binary Search Tree)
i, Min Heap

Data is:

15:,:3:;:6,18,5:9: 11 20087, 80253, 14

¢) What is a circular queue? Write a program to implements a circular queue.
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Part-11 (Short Questions)

QUESTION #2 [4x 5 =20 marks]

|. Draw the Binary Search Tree (BST) obtained when the following values are inserted (in
the given order) into an initially empty BST:
14 10 8 9 15 13 16 14
You only have to show the final BST which resuits after inserting all of the above values.

2. Compute the running time of the program fragment shown below.
aum = 0;
for(i=N; i>0; i--)
{
if(i > §)
{
num = num + 1;
}
else
(
for (k=N; k > 0; k=--)
num = num - 1;
}
}

3. Write a C++ function leastDifference that finds the least difference between any two
elements of an array. For example:

Array: 20 24 30 45 32 19
Least Difference: 2 (between 30 and 32)

4. Perform deletion operation of minimum value only one time in the following min- heap and
draw the resultant tree after deletion.

) 2.T.0.

hesais



Part-111 (Subjective)

QUESTION #3 = {10 marks)
Convert following In-fix expression to Pre-fix expression, Evaluate both In-fix and Post-fix
expression to compare results?

(12/(6 «4)) + ((27/(3* 3) + 1)/8)

QUESTION £ 4 110 marks)

Write a C++ function that removes duplicates from a Linked List. Consider the following
scenarios, just for examples, before and afier applying your function:

Before: 23 24 23 45 39 45 78 45 20
After: 23 24 45 39 78 90

Before: 1 3 4 5

After: 1 3 4 G

QUESTION #5 [10 marks]

Write a C++ function leafCount that counts the leaves of a binary tree.

Good Luck
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Part-I (Objective)

QUESTION #1 (10 marks)

Select the best option for each of the following multiple choice questions (MCQs). Only one
option is correct. Cutting and overwriting in this question will be considered wrong.
1. Two main measures for the efficiency of an algorithm are
A. Processor and memory
B. Complexity and capacity
C. Time and space
D. Data and space
2. The Worst case occur in linear search algorithm when
A. Item is somewhere in the middle of the array
B. Item is not in the array at all
C. Item is the last element in the array
D. Item is the last element in the array or is not there at all
3. The complexity of the average case of an algorithm is
A. Much more complicated to analyze than that of worst case
B. Much more simpler to analyze than that of worst case
C. Sometimes more complicated and some other times simpler than that of worst case
D. None or above
4. The result of a postfix expression 823 ~/2 3 *+5 1 * - with single digit operands is:

D. 4
5. The complexity of Bubble sort algorithm is
A. O(n)
B. O(logn)
C. O(n?)
D. O(n logn)
6. Which of the following data structure is not linear data structure?
A. Arrays
B. Linked lists
C. Graphs
D. None of above
7. Which of the following is not the required condition for binary search algorithm?
A. The list must be sorted
B. There should be the direct access to the middle element in any sublist
C. There must be mechanism to delete and/or insert elements in list

D. None of above )
8. Suppose that you insert the following val
tree:

ues (in the given order) into an empty binary search

8476295

How many leveis will be there in the resulting binary search tree?
A 4

D. 7
9. When inorder traversing a tree resulted E
return
A. FAEKCDBHG
B. FAEKCDHGB
C. EAFKHDCBG
D. FEAKDCHBG
10. The time complexity to sortne
A. True
B. False

ACKFHDBG;the preorder traversal would

lements by using merge sort technique, is always loga(n)
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Part-11 (Short Questions)
Question # 2

1. Draw the Binary Search Tree(BST) obtained when the following values are inserted(in
the given order) Into an initially empty BST:
46 32 28 30 55 60 58
You only have to show the final BST which results after inserting all of the above values.

2. Compute the running time of the program [ragment shown below.

s=0;
For (i=0; i<N; I++}
{
If(i=3)
i
Sum =Sum + 1;
]
Else
y
For (k=0; k < N; k--)
Sum = Sum- 1;
}

3. Consider a circular queue of 100 elements. Find total number of elements in the circular queue
zgainst the following situations. Also write a formula to calculate the tatal number of elements
in the circular queue.

a) Front=67;R=92;
b) Front=76;R=62;
¢] General Fermula
4. How priority queue [s different from simple queue?
5. Give the trace of bubble sort and insertion sort to sort the following list of element:
12 5 18 7 21 1a

Draw the following table on your answer sheet and fill the cells after each pass of the sarting algorithm.

Pass Bubble Sort Pass Insertion Sort
Pass1 Pass 2
Pass 2 Pass 2
Pass 3 ' Pass 3
Pass 4 Pass 4
Pass 5 | Pass 5

DINVAS

Blogspol.com



6. Write an algorithm to insert an element in a circular queue.
Part-1ll (Subjective)
sti

Convert following in-fix expression to pre-fix expression. Fvaluate both in-fix and pest-fix expression te
compare resuits?

(3*(6/3))+(8/(6-1))
Question #4

Write C++ function bool isMaxHeap (int A [], int size) to determine whether the array A is a Max Heap
or net. This function should return true if the array A is a Max Heap and it should return false otherwise. You
can assume that the indices of the array start at 1 (instead of Q).

Question #5

Write a C++ function Node * middleLinkedList (Node *head) ta find the middle of a |inked list. This
function receives the head of linked list as parameter and then after finding returns the address of middle
node,
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Part-11 (Short Questions)
Question # 2

1. Draw the Binary Search Tree(BST) obtained when the following values are inserted(in
the given order) Into an initially empty BST:
23 16 14 15 27 25 30 29
You only have to show the final BST which results after inserting all of the above values.

2. Compute the running time of the program [ragment shown below.

Sum =0;
For (i=N; i>0; i-)
{
If(i=3)
i
Sum =Sum + 1;
]
Else
y
For (k=N; k> 0; k-)
Sum =Sum-1;
}

3. Write a function swap (int a, int bj that exchange two node in list that is implemented using
linked list. You have to add this function swap () as 2 member function of list class. The nodas
are identified by number and are passed as parameters. For example to exchange node 5 and B,
you would call swap (5, 8 ). If the exchange Is successful, the function should return true. if it
encounters an error, such as an invalid node number then it should return false.

4. Consider a circular queue of 100 elements. Find tetal number of elements in the drcular queue
against the following situations. Also write a formula to calculate the total number of elements
in the circular queue.

a) Front=45;R=90;
b) Front=54;R=71;
¢] General Formula
5
6. Perform deletion operation of minimum value only one time in the following min-heap and
draw the resultant tree after deletion.

O
&
0 ®
©®E DINVAS
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Part-1ll (Subjective)
sti

Convert following in-fix expression to pre-fix expression. Fvaluate both in-fix and pre-fix expression to
compare results?

(5%(10/5))+{12/(10-7) )
Question #4

Write C++ function bool isMinHeap (int A [], int size) to determine whether the array A is a Min Heap
or net. This function should return true if the array A is a Min Heap and it should return false otherwise. You
can assume that the indices of the array start at 1 (instead of Q).

Question #5

Write a C++ function Node * middielinkedList (Node *head) to find the middle of a linked list. This
function receives the head of linked list as parameter and then after finding returns the address of middle
node.
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Question # 2

1. Draw the Binary Search Tree(BST) obtained when the following values are inserted({in
the given order) Into an initially empty BST:
12879 14 13 15 16
You only have to show the final BST which results after inserting all of the above values.

2. Compute the running time of the program fragment shown below.
s=0;
for (i=0; i>n; i++)
(
If (i<n/2)
i
s=6+1;
)
else
{

for (j=n; >n/2; j--)
§=8-1;

3. Write a function exchange {int a, int b) that exchanges two node in list that is implemented
using linked list. You have 1o add this function exchange () as a member function of list class.
The nede are identified by number and are passed as parameters. For example to exchange
node 5 and 8, you would call exchange { 5, 8 ). If the exchange is successful, the function should
return true. If it encounters an error, such as an invalid node number then it should return
false.

4, Perform deletion operation of minimum value only one time In the following min-heap and
draw the resultant tree after deletion.

@
@
@O ®
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Part-1ll (Subjective)

Question # 3

Convert following in-fix expression to pre-fix expression. Evaluate both in-fix and pre-fix expression to
compare results?

(4*(8/4))+(6/(8-5))
Question #4
Glven the following directed graph, write the sequence of vertices after performing:

a) Depth-First Search (DFS) starting from vertex B, and
b) Breath-First Search (BFS) starting from vertex A

If you have mare than asingle choice of vertices at a certain point, traverse them in alphabetical erder.

Question # 5

Write a C++ function bool isSorted (Node *head) to find whether a linked list is sorted or not? This
function receives the head of the linked list as parameter and then checks whether the linked list is sorted if
yes then it return true and it return false otherwise,

DINVAS

Blogspol.com
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QUESTION# | (10 marks]

Select the best option for each of the following multiple choice questions (MCQs). Only one
option is comect. Cutting and overwriting in this question will be considered wiong.

2. The Worst caso occur in lincar search algorithm when
A. ltem is somewhere (n the middle of the array
B. ltem is not in the array st all
€. tem is the last clement in the array
D. Mem is the last clement in the array or is not there at all
3. The complexity of the average case of an algorithm is
A. Much more complicated (o snalyze than that of worst case
B. Much more simpler 10 analyze than that of worst case
C. Sometimes more complicated and some other times simpler than that of worst case
D. Nooe or sbove
4. The result of & postfix expression 23 723 * + § | * - with single digit operands is:
Al

C3

D4

The complexity of Bubble sort algorithm is
A. Ofn)
B Oglogn) I
C. O !
D. Ofn log a)

6. Which of the following data structure is not linear dam structure?

-

B. Linked lins

C. Graphs

D. None of sbove
% Mdhwhntlmmmumﬂnhmmup'ﬁﬂ

A. The list must be sorted

B. There should be the direct access 10 the middic element in any sublist

C. There must be mechanism 10 delete and/or insert elements in list

of above ¢ 2 h

s “memurmnm(n-mmmﬂﬂmw

$476295

mmm-iuumhummgmmuﬁ
A4
s

6
.. wﬁ:uumh-mmtacxrunlc;umummu
A
B

ltmmuwhhymmlmbywwmmudwmhp(n
B. False s
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Part-11 (Short Questions)

QUESTION#3
|

[4x S =20 marks]
Draw the Binary Search Tree (BST) obtained when the fullowing values wre insented (in
the given order) into an mitially empty BST
1410 8 9 15 13 16 M .

You only have b show the final BST which reswlts after inserting all of the above valwes
2 Compute the running time of the program fragment shown below

sum = 0

toru-l: 120 3+

t

ig(1 > 3
{
num - nua o+ 1
!
else
(

for{k«=N; & > 0; k)
oun - num - 1
)
!

3. Write o C+4 function leastDifference that finds the least differcace between any two
elements of an array. For example:

Amay: 20 24 30 45 2 19
Least Difference: 2 (between 30 and 32)

& Perform deletion operation of minirum value only one time in the following min- heap and
draw the resultant tree alier deletion.

P.T.0.



Part-111 (Subjective)

QUESTIONS D [10 marks]
Convert ng In-fix exp 10 Pre-fix expression. Evaluate both In-fix and Pout-fix
expression o compare resubts?

(12/(6 +#)) + ((27/(3+ 3) + 1)/8)
QUESTION # 4 110 marks)

Write 8 C ++ function that removes duplicates from  Linked List. Consider the following
wenarios, just for examples, before and afier applying your function:

Before: 23 24 23 o I 45 78 5 %0
After: 23 24 45 3% 1w 90

Before 1 3 4 S

After: 3 3 4 5

QUESTION® § (10 marks)

Write s C++ function leafCount that counts the leaves of a binary tree.

Good Luck
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1 Two main measures for the efficiency of an algorithm ae

2 The memory address of the fiest element of an array is called
2) foor address
b) foundation address
¢} first address
@) base address

3. Abinary tree whose every node has either reco or two children |s calied
4) Complete binary tree
b} Binary search tree
¢} Extended binary tree
d) None of above
4. in which notation aperator is comes after operand?
a) ofix
b) Prefix
€) Postfix
d) None

5. Uinear order Iinked list is provided through
a) variables
b) arrays
€) Pointer
d) Strings
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Question # 2. Short Questions: (45 =20 macks)
3] Wit down the in fix notation of the following expression:

B302(3'4-3) Me2*1
b} What 15 the output of the following code

#include clostream
using namespace std;
int funi(int n)
1 (0 == 1)

return 9;
olse

return 1+ fund(a / 2);  // recurrsive call
}
int main()

{
Cout <« “answer 15 = * << funl(32) << endl;
return 8;

}

< Forthe folowing given cata bolow craw the Max-Heap

Data is.

15 3,6.18,5,9,11,20,17,7,2,3. 14
d) Write down the code for the Insevtion Son.

void InserionSort ( Int Al ], int size).  you have to define this function only

Question 83 Long Questions 139 emarks)

a) Write down the code of the following function of Link List Class.

0 void removeFromMead( ) // remove the first noce at hoad
L] int countDupiicats ( int key) // count the node having duplcale values.

b) Suppose you are piven 2 sorted amay A of 1 distinct numbers that has been rotated &
stops, for some unknown infoger k between 1 1o n-1. That is, Af1. A is sorted in Increasing
order, and Afk+1...n] 's also sorled In iIncreasing order, and Aln] < Af7).

The lollowing aray A is an example of = 16 elements with k= 10.
A={3,13,16,18,18,23,28,31,37 42.0,1,2 5,7 8}
You have o design a0 Of log n ) code 1o find the vakue of k.

int FinaK(int A[ ], Int stze) iyou have to implement this function P.T.O0.



©) mmmnwmwrmw-u-nhmv
L Post order Traversal
& Wrike down tho code for the Post Order Travarsal of any iree.

void PostOrderTraversal | Node * Il 1t Is the prototype of the
function which you

root);
have to define.
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Question#1. Multiple Cholce Questions. {1x10=10)
L Stack is used for:
a CPU Resource Allocation b. Breadth First Traversal
c Recursion d None of the above
i mmwmmhMNngWMbm-a.s.1.
a 4 b 5
c 6 d 7
] A binary tree whose every node has either zaro or two children is called:
a Complete binary tree b. Binary search tree
e Extended binary tree d. None of the above
iv.  Whatis the worst case time complexity of linear search algorithm?
a O b. 0(%
c O(log n) d (o]

Ve hmmmdmm mwhww

vi.  Which of the below is not divide and conquer approach?

a Selection sort b. Bubble Set
c Counting sort d Marge Sort
il In which notation operator is comes after operand?
a Infix b.
c Postfix d. None
wii. Twm&m-hhdbmcydmman
a Processor and memory Complexity and capacity
c. Time and space d. Data and space
x The Y of the first of an array is called:
a Floor address b. Foundation address
c First address d. Base address
x. Linear order linked list is provided through:
a  Varables b.  Amays

c Pointer d. Strings
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Question # 2. Shor Questions: 4% 5 =20 marks)

) Wrie down tha code fof the insertion Sort

void InsertionSort [ int A{], inf size), /f you have 1o define this function only
b) Wrile down the code of the folowing function of Link List Class

vold remove(int key) // remove the node having value equal to key

€ The folowing given function runs in fime O(n), you have to write an equivalent function
that runs in me O(1)

It funf int size, mt af )
{

=0,

for(i=1ton)
s=xeafi]-af1-1]

retum s;

d) Mow many times “Hello' wil be deplayed on screen by running this code, also draw
recursion iroe for calculating your answer

#include c<lostreasms
wsing namespace std;
void £(int n)

if{(n=1|lnee
return;

else

{
cout << “Mello” << endl;
f{n « 1); // recurrsive call
f(n - 2); // recurrsive call
Cout << "Mello” «< endl;

}

int =ain()
f(s);
return 8,
)

a) Mﬂaauwhm“h—lgmtvmsmmlmﬂ'Wen-U.LZ.3
using approprate data struture
E

Bsaabbb — is of the form a'd*
bbbaaa ~ is not a form of a°t"
ababab - is not & form of a°0"
b) For the following given data below draw tho following
i BST(Binary Search Tree)
. Min Heap
Data is.

15.3,.6,18,5.9,11,20,17,7,2,3,14

©) What is a circular queus? Write @ program to implemants a circular queue
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Question #2. Short Questions: __(4x 5 =20 marks)
a) Wnite down the In fix notation of the following expression:

9-3+42%(3*4-3) /442"
b) What is the output of the following code

#include <iostream>
using namespace std;
int funi(int n)
{
if (n == 1)

return @;
else

return 1 + funi(n / 2); // recurrsive call
}
int main()
{

cout << “answer is = " << funl(32) << endl;
return 2;

}

¢) For the following given data below draw the Max-Heap

Data is

15 3,6,18,5,9,11,20,17,7,2,3,14
d) Wirite down the code for the Insertion Sort.

void InsertionSort (int A] ], int size); // you have to define this function only

Question # 3. Long Questions (30 marks)

a) Write down the code of the following function of Link List Class.

) vold removeFromHead{ ) // remove the first node at head
1)) int countDuplicate ( int key) / count the node having duplicate values.

b) Suppose you are given a sorted amay A of n distinct numbers that has been rotaled k
steps, for some unknown integer k between 1 fo n-1. That is, A[1.k] is sorted in increasing
order, and Afk+1...n] is also sorted in increasing order, and Afn] < A[1].

The following array A is an example of =16 elements with k=10.
A=(8,13,16,18,19,23,28,31,37 42,0,1,2.5,7 8)
You have 1o design an Of log n ) code to find the value of k.

int FindK(int A[ ], int size) Hiyou have to implement this function P.T.O.
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Question # 2. Short Questions: 14X 5 =20 marks)

a) Write down the code for the Insertion Sort,
void InsertionSort ( int A[ ], Int size). // you have to define this functon only
b) Write down the code of the following function of Link List Class
void remove(int key) # remove the node having value equal 1o key
¢) The following given function runs in time O(n), you have to write an equivalent function
that runs in time O(1)

it fun( int size, intaf ) )

5=0;

foe{i=1ton)
s=g+ali]-ali-1]

retum s,

How many times “Hello™ will be displayed on screen by running this code, also draw
recursion tree for calculating your answer

d

#include <iostreams
using namespace std;
void f(int n)
(

If(n==1||nea)

return;

else

{
cout << "Hello" << endl;
f(n = 1); // recurrsive call
f(n - 2); // recurrsive call
Cout << "Hello® << endl;

}

int main()
f(5);
return @;

a) Write a program 10 check whether a given string is of the form a"t" where n = 0,123
using approprate data struture.
Examples:
aaabbb — |s of the form a’o"
bbbaaa - (s not a form of a"t"
ababab - is not a form of a""

b) For the following given data below draw the following
BST(Binary Search Tree)

", Min Heap
Data is:

1$,3,6,18,5.9,11,20,17,7,2,3, 14

€) What is a circular queue? Write a program to implements a circular queue



c) lnmmmogivonmmemmnwomlhem

Post order Traversal
Wiite down the code for the Post Order Traversal of any lree.

void PostOrderTraversal ( Node * root); // it Is the prototype of the
function which you have to define.
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H {4 x5 =20 marks)
@) What are the time complexities of each of the fo % code segr 7 Write your in
Big Oh notation only.

for(int 4 = 1; 4 <= n; i++)

$ for(imt 3 = 0; j <= 10000; 3++)
; temptt

)

b) Apply the Quick sort algorithm on this array and show the contents after ong teration
Itloning this once). Use the first number (12) a3 the pivot.

172 2 15 " a5 3 s 18 8 L
€) Write down the post-fix forms of the f g infix exp In mind the op
precedence rules of C++):

A+sCe+n/D-R"FP/O0

d) Write brief tothe g two g
° Nomommunuuduwmwulnlm

o Name one advantage of an array over a linked list.

Question # 3. Long Questions (215 = 30 marks)
8) Giventhe of a Clrcular-Doubly-Linked-List (with a dummy hesder node) which
stores integers in unsorted order:
Glase DNode olass COLinkedlist
{ friend olass COLinkedList; 1
private: private:
Ant data; DModa head )
DNode* next; publio:
DNode* prev) void LnsertAtEnd (int val)/
Y Vi
You are required to the 1 mermber function void insertAtEnd (int val) of e

Wcmﬂbﬁmﬂmk&mﬂ‘uhﬂo(hu&dlmﬁmmmdw
function should be constant i.e. O(1).

b) Write 8 recursive Ce+ function 1o count all occurrences of & given number k in a given array of
tegers. The pr of your function should be:
int count (int* arr, int start, int end, int k)
nwnmmuruwm,omtnd-dmuﬁn&umdondlumolmnm.
and X is the number whose aretobe

for example, If the array axr containg these 10 integers {2,1,7,5,7,26,7,8,7) and we call
oount (axrz,0,9,7) then this function should return 4 (because the number 7 occurs 4 times In
the above amay).

Nau oona'r:wmmmpmm Do NOT use any global/satic variables. The
No Marks for lierative implemeniation.




